TRIPP-LITE

Tripp Lite

1111 W. 35th Street
Chicago, IL 60609 USA
Telephone: 773.869.1234

www.tripplite.com

Portrait/Landscape Rotatable Fixed Flat-Screen Wall
Mount for 37" to 70" TVs and Monitors

MODEL NUMBER: DWM3770PLX

Description
The VESA-compliant DWM3770PLX Portrait/Landscape Rotatable Fixed Flat-Screen Wall Mount allows you to
mount your flat-panel television, monitor or other display on the wall. Recommended for home theaters,

classrooms, boardrooms, hotels, bars and restaurants, it fits most flat-panel displays from 37 to 70 inches.

The DWM3770PLX effortlessly rotates 90 degrees to position your display in either portrait or landscape mode to
fit your environment and comfort level. The durable all-metal frame with scratch-resistant powder-coated finish
supports up to 110 pounds.

To ease wall installation, the VESA plate attached to the display slides down into the wall-mounted plate.
Mounting hardware is included. A built-in bubble level allows accurate wall plate leveling. The DWM3770PLX
conforms to VESA-compliant displays with any of the following mounting hole patterns: 200 x 200 mm, 300 x 300
mm, 400 x 200 mm, 400 x 400 mm and 600 x 400 mm.

Features

Mounts Your TV or Monitor to the Wall

o Fits most flat-panel televisions, monitors and other displays from 37 to 70 in.

o Recommended for home theaters, classrooms, boardrooms, hotels, bars and restaurants
e Mounting hardware included

o Display plate slides down into wall plate for easy wall-mounting

Allows 90° Rotation

e Spins effortlessly for portrait or landscape viewing

Durable Metal Construction
e Supports up to 110 Ib.

1/2

Highlights

o Fits most flat-panel displays from
3710 70 in.

o Rotates smoothly 90° from
portrait to landscape and vice
versa

o Slide-in VESA plate for easy
mounting

o Durable metal construction

e Supports up to 110 Ib.

Package Includes

o Wall plate

e Universal plate

e (2) Adapter brackets
e (4) M5 x 14 screws
e (4) M6 x 14 screws
e (4) M6 x 10 screws
e (4) M6 x 30 screws
e (4) M8 x 20 screws
e (4) M8 x 30 screws
e (4) Washers

e (4) D6 washers

e (8) Small spacers

o (4) Big spacers

e (4) Anchor bolts

e (4) Concrete anchors
o Hex key, 4 mm

o Owner’'s manual



Tripp Lite

1111 W. 35th Street
(] Chicago, IL 60609 USA
Telephone: 773.869.1234

www.tripplite.com

e Scratch-resistant powder-coated finish blends with any décor

o Built-in bubble level allows accurate display leveling

VESA Compliance
o Supports the following VESA mounting hole patterns: 200 x 200 mm, 300 x 300 mm, 400 x 200 mm, 400 x 400 mm and 600 x 400 mm

Specifications
PHYSICAL
Mounting Location Wall
Unit Dimensions (hwd / in.) 159x23.9x1.8
Unit Weight (Ibs.) 9.75
Unit Weight (kg) 4.42
Material of Construction Steel
Color Black
Screen Size Compatibility (in.) 37-70
Screen Size Compatibility (cm) 94.1 -178.0
VESA Pattern (mm) 200x200; 300x300; 400x200; 400x400; 600x400
Motion Full
Distance from Wall (in.) 1.81
Distance from Wall (cm) 5
Maximum Weight Capacity (Ibs.) 110
Maximum Weight Capacity (kg) 50
Distance from Wall (mm) 46
FEATURES & SPECIFICATIONS
Tools Necessary Yes
Cord Management No
WARRANTY
Product Warranty Period (Worldwide) | 5-year limited warranty

© 2017 Tripp Lite. All rights reserved. All product and company names are trademarks or registered trademarks of their respective holders. Use of them does
not imply any affiliation with or endorsement by them. Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.
Tripp Lite uses primary and third-party agencies to test its products for compliance with standards. See a list of Tripp Lite's testing agencies:
https://www.tripplite.com/products/product-certification-agencies

212


https://www.tripplite.com/products/product-certification-agencies

‘\ Y MOSCHIP RU g)?ﬂ%?aﬂ:wx KOMMOHEHTOB +7495668 12 70

© BMECTE Mbl CO3LLAEM BYOYLLEE B8 info@moschip.ru

O6LLecTBO C orpaHMYeHHON oTBETCTBEHHOCTBIO «MocHuny WMHH 7719860671 / KIMNM 771901001
Appec: 105318, r.Mockea, yn.LLlepbakoBckas 4.3, odmc 1107

[aHHbIn KOMMNOHEHT Ha TeppuTopun Poccuinckon depepauumn

Bbl MoxeTe npuobpectu B komnaHun MosChip.

[lnsa onepaTtuBHOro ocdopmnenus 3anpoca Bam HeobxoomMmo nepenT No faHHON CChISKe:

http://moschip.ru/get-element

Bbl MoxeTe pa3mecTuTb Y Hac 3aka3 and nboro Bawero npoekTa, 6yab To
cepuiiHoe Npomn3BOACTBO MM pa3paboTka eguHUYHOro npubopa.

B Hawem acCcCopTnMeHTe npencTasiieHbl Begywmne MmpoBblie NMPoOnN3BOANTENIN aKTUBHbIX U
NacCUBHbIX 3JTIEKTPOHHbIX KOMIMOHEHTOB.

Hawen cneumanusauuen sBnseTcs NOCTaBKa 3N1EKTPOHHOMW KOMMOHEHTHON 6a3bl
OBOWHOro Ha3HayeHus, npoaykummn Takmx npounssoantenen kak XILINX, Intel
(ex.ALTERA), Vicor, Microchip, Texas Instruments, Analog Devices, Mini-Circuits,
Amphenol, Glenair.

CoTpynHMyecTBO € rnobanbHbIMU OUCTPUOLIOTOPaMN 3NEKTPOHHBIX KOMIMOHEHTOB,
npegocTraBnseT BO3MOXHOCTb 3aKa3blBaTb 1 MOfly4aTb C MEXAYHAPOOHbIX CKNaaos
npakTuyecku nobon nepeyeHb KOMNOHEHTOB B ONTUMarbHble aAnsa Bac cpoku.

Ha Bcex aTanax pa3paboTKu 1 NPOM3BOACTBA HalLW NapTHEPbI MOTYT NOMy4YnTb
KBanumunpoBaHHy NOAAEPXKY OMNbITHbIX UHXEHEPOB.

Cuctema MeHeXMeHTa KayecTBa KOMNaHum oteevaeT TpeboBaHNAM B COOTBETCTBUM C
rOCT P MCO 9001, TOCT PB 0015-002 n 3C P, 009

Odomc no pabote c OPUANHECKUMU NTULLAMMU:

105318, r.Mockea, yn.lWepbakosckaa a.3, ocdomc 1107, 1118, AL, «LUepbakoBcKkuniny»
TenedoH: +7 495 668-12-70 (MHOrokaHanbHbIN)
dakc: +7 495 668-12-70 (006.304)

E-mail: info@moschip.ru

Skype otaena npogax:
moschip.ru moschip.ru_6
moschip.ru_4 moschip.ru_9


mailto:info@moschip.ru

